BB EE

9816H mEiGEKR 7:15~8:15 &E - KFXHERKE 8:00
<+ S VUEBE>
No. Y= SR | A% [HBERAREZ| BESTEZ | 5RHEREZ

T T %% (@2 [100mi(mE)| | RE 3 510 .70 8 - 40
2 | &% [#2] 100mH R 6 515 895 8 45
3T BF (e TT0mimE)| RE 7 530 840 9 00
11 BF w2 110nH R 1 835 845 9 05
T~6 845 855 915
5| 8% w2 200m s [7~12]  8.55 905 9 95
13~18]  9.05 915 g:ig

- 1<% 915 975 :
6 =¥ (+% 200m A g9 975 9. 35 055
=3 935 045 70 05
7| 8% w2  1500m R [4~6 955 0. 05 10 25
70 10.15 1025 }(1):;1(5)

- T 12 10.40 1050 :
8 | =F (w%| 1500m R T 1055 1705 1 :ﬁg

~ T <3 11.10 1720 11
9| BF |#¥  400m R e T 120 17-30 1150
0] %% [#%]  400m B 1 17-30 1740 1200
T~7 1 1740 1750 1210
8~14] 17.50 1700 }g:gg

" e [15=21 12.00 1270 :
1 3F (#%  100m RE o8 T12.70 12-20 1940
20~35 1220 1230 1250
36~42] 1230 1240 13700
T~6 | 1240 1250 }g:ég

" e [7<=1212.50 1300 :
12| %F |®=  100m R¥ H3<isl 13,00 13:70 1330
19~23]  13.10 13720 }2 : 3(5)

- T [1~3[ 13.35 1345 :
13| 3F [#% 800m R s T T13.50 14-00 14 - %(5)

- e T2 [ 14.05 1475 14
141 ZF % 800m R T 1420 14-30 14 50
5T BF (a2 00mmE) | iE 7 1435 1445 }g : (2)(5)

~ : T~4 | 1450 1500 :
16| BF |#% 4x100m | RE g1 505 1515 15 : 35
7] %% [5%] 4 x700m | 2 [ 1~6] 15.20 1530 15 : 50
18 %F [m=] 200m(muE) | REE 3 1545 1555 16 : 15
191 &% [F%[ _3000m RES 1 555 1605 }g : gg

~ : T2 15.55 1605 :
20| BF |#%| 3000m R T 1625 16.35 16 : 55

17:20 3R T FE

<74—IFEE>
No. =] SYHY KR | Sn#|BERABREZ| BESETEZ | 3R EZ

1| &F || EEEk SRR 41 8:30 8:40 9:10
T &F (o= zemamm| RE |1+18]  8.50 900 930
3| BF [z migEmE R B 27+15 9:00 9:10 9 :40
4 | &F |bh%| BE=Bk R 4 10:00 10:10 10 : 40
5 | B A Eak R 9 10200 1070 10 : 40
6 | BF [ Zhak REE | 64 10°50 1100 11 - 30
T %7 [ mnmamm]| R [22¢08] 1120 1730 12 00
5| BF || memamm| R [ 28+15] 1120 1730 12200
0| &7 (4% ABRR RIS 5 13.50 1400 14 30
0] BF [+ Ok R | 11 1350 1400 14 30
11 &7 [ =k RIS 1 1420 14730 15 00




